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QUESTION 1

A customer has an application that is considered mission critical. In the event of a disaster, they want a replication
solution that will guarantee that the replicated data is identical to the source without any data loss. Which solution
accomplishes this?

A. asynchronous replication

B. synchronous replication

C. fan-out replication

D. bidirectional replication

Correct Answer: B

QUESTION 2

A customer has a mission-critical application based on a storage solution with replication on a pair of EVA arrays. Both
the source and remote storage arrays must always be synchronized and in the event that a transaction cannot be
committed the application should be halted. How must these arrays be set up?

A. Failsafe mode=enabled

B. Synchronized mode=disabled

C. Synchronized mode=enabled

D. Failsafe mode=disabled

Correct Answer: A

QUESTION 3

What is a best practice for large scale SANs and SAN scaling?

A. implement bandwidth and throughput with support for a cascaded SAN topology

B. implement enough bandwidth and throughput to support the business requirements

C. implement enough bandwidth and throughput to support twice the business growth

D. implement adequate bandwidth and throughput with support for business driven growth over time

Correct Answer: D

QUESTION 4

A customer is testing storage array replication with two storage systems in their data center. The arrays are connected
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with fiber optic cables that are a total of 30 meters in length. The replication mode is changed from synchronous to
asynchronous. How does this affect replication performance in this case?

A. Asynchronous mode replication is much faster than synchronous mode.
B. Synchronous mode replication is slightly faster than asynchronous mode
C. Synchronous mode replication is much faster than asynchronous mode.
D. Asynchronous mode replication is about the same as synchronous mode.

Correct Answer: D

QUESTION 5

SAN architecture is created at

A. the lowest level of storage abstraction
B. the mid level of storage abstraction

C. the smallest LUN possible in the SAN
D. the highest level of storage abstraction

Correct Answer: D

Latest HP0-815 Dumps HPO0-815 VCE Dumps HPO0-815 Practice Test

Latest HP0-815 Dumps | HP0-815 VCE Dumps | HP0-815 Practice Test 3/3


https://www.geekcert.com/hp0-815.html
https://www.geekcert.com/hp0-815.html
https://www.geekcert.com/hp0-815.html
http://www.tcpdf.org
https://www.geekcert.com/hp0-815.html
https://www.geekcert.com/hp0-815.html
https://www.geekcert.com/hp0-815.html

